

Theorem 6.9. Let
$$d < 1 + r < u$$
, and V_N be an F_N measurable random variable. Consider a security that pays V_N at maturity
time N. For any $n \leq N$, the arbitrage free price of this security is given by
 $V_n = \frac{1}{D_n} \frac{E_n(D_N V_N)}{E_n(D_N V_N)} \qquad (M=0: V_0 = F(P_N V_N))$
 $P_1: Let X_n = \frac{1}{D_n} \frac{F_n(D_N V_N)}{E_n(D_N V_N)} \qquad (M=0: V_0 = F(P_N V_N))$
 $P_1: Let X_n = \frac{1}{D_n} \frac{F_n(D_N V_N)}{E_n(D_N V_N)} \qquad (M=0: V_0 = F(P_N V_N)) = V_N.$
 $(2) Node $D_n X_n = E_n(D_N V_N)$. $D = \sum_{N = N} \sum_{N = N}$$

 $\mathcal{O} \mathcal{W} = (\mathcal{W}_1, \mathcal{W}_2, \cdots, \mathcal{W}_n)$ *Remark* 6.10. The replicating strategy can be found by backward induction. Let $\omega = (\omega', \omega_{n+1}, \omega'')$. Then $\Delta_{n}(\omega) = \frac{V_{n+1}(\omega', \underline{1}, \omega'') - V_{n+1}(\omega', \underline{-1}, \omega'')}{(u-d)(\varsigma_{\mathcal{N}}(\omega))} = \frac{V_{n+1}(\omega', 1) - \overline{V_{n+1}(\omega', -1)}}{(u-d)(\varsigma_{\mathcal{N}}(\omega))}$ # shuds of clock of from M. $\omega' = (\omega_1 - \cdots - \omega_m)$ $\operatorname{Ad} X_m = V_m \omega'' = (\omega_{n+2}, \dots, \omega_{n+2})$ n in the Son shows of stools Holdings at time in Son shows of stools (X - JnSn) Cash-Self fin $\rightarrow X_{n+1} = \Delta_n S_{n+1} + (1+r)(X_n - \Delta_n S_n)$ Xn+1(w) -> only dep on 1st not coin to see. Write $X_{m+1}(\omega) = X_{m+1}(\omega', \omega_{m+1}, \lambda'') = X_{m+1}(\omega', \omega_{m+1}).$

Proof of Theorem 6.5 part 1. Suppose X_n is the wealth of a self-financing portfolio. Need to show $D_n X_n$ is a martingale under \tilde{P} . Asome d < 1+r < h, $P \rightarrow RNM$. $(E_{M}(S_{M+1}D_{M+1}) = D_{M}S_{M})$ $D_{aa} = (1+r)^{-n}$ X -> self fim. $X_{n+1} = \Delta_n S_{n+1} + (X_n - \Delta_n S_n)(1+r)$ NTS $D_n X_n$ is a \widehat{P} may $\Rightarrow D_{n+1} X_{n+1} = \Delta_n D_{n+1} S_{n+1} + (1+r) D_{n+1} \left(X_n - \Delta_n S_n \right)$ $\Rightarrow \widetilde{E}_{\mathcal{M}}(\mathcal{D}_{\mathsf{M}\mathsf{f}_{\mathsf{I}}} \mathsf{X}_{\mathsf{M}\mathsf{f}_{\mathsf{I}}}) = \Delta_{\mathcal{M}} \widetilde{E}_{\mathcal{M}}(\mathcal{D}_{\mathsf{M}\mathsf{f}_{\mathsf{I}}} \mathsf{S}_{\mathsf{M}\mathsf{f}_{\mathsf{I}}}) + \mathcal{D}_{\mathcal{M}}(\mathsf{X}_{\mathsf{M}} - \Delta_{\mathsf{M}} \mathsf{S}_{\mathsf{M}})$ $= \Delta_{n} P_{n} S_{n} + P_{n} (X_{n} - \Delta_{n} S_{n}) = D_{n} X_{n}$



Proof of Theorem 6.5 part 2. Suppose $D_n X_n$ is a martingale under \tilde{P} . Need to show X_n is the wealth of a self-financing portfolio.

$$X_{m+1}(\omega) = X_{m+1}(\omega', \omega_{m+1}, \omega'')$$

 $\simeq X_{m+1}(\omega', \omega_{m+1})$

 $\begin{pmatrix} \omega' = (\omega_1 - \omega_m) \\ \omega'' = (\omega_{m+2} - \omega_N) \end{pmatrix}$

 $\begin{pmatrix} X_{m+1}(\omega', 1) \\ X_{m+1}(\omega', -1) \end{pmatrix} \in \mathbb{R}^2$ (some reador). $\begin{pmatrix} X_{m+1}(\omega', -1) \end{pmatrix} \mapsto N$ write as a L. C. of $\begin{pmatrix} \lambda \\ \lambda \end{pmatrix}$ & $\begin{pmatrix} 1 \\ 1 \end{pmatrix}$

Can always write $\begin{pmatrix} X_{m+1}(\omega', 1) \\ X_{m+1}(\omega', -1) \end{pmatrix} = \underbrace{S_{m}(\omega)}_{(m+1)} \underbrace{S_{n}(\omega)}_{(m+1)} \underbrace{S_{n}($ $\Rightarrow \lambda_{m+1}(\omega', \omega_{m+1}) = \Delta_{m}(\omega') \zeta_{m+1}(\omega', \omega_{m+1}) + \Gamma_{m}(\omega').$ => lan always write $X_{m+1} = \Delta_n S_{m+1} + \Gamma_n$ for some adopted for some ΔS_n . $\left[NTS: \int_{M} = \left(X_{m} - \Delta_{m}S_{m}\right)(1+\gamma)\right]$

$$\begin{split} \mathcal{P}_{k} \circ & \text{Node} \quad \mathcal{D}_{n+1} X_{n+1} = \mathcal{A}_{n} \quad \mathcal{D}_{n+1} S_{n+1} + \mathcal{D}_{n+1} \Gamma_{n} \\ \text{Know} \quad \mathcal{D}_{n} X_{n} \text{ is a } \widetilde{\mathcal{P}} \quad \text{mg.} \\ & \geqslant \mathcal{D}_{n} X_{n} = \widetilde{\mathcal{E}}_{n} \left(\mathcal{D}_{nn} X_{n+1} \right) = \widetilde{\mathcal{E}}_{n} \left(\mathcal{R} H S \right) \\ & = \mathcal{A}_{n} \left(\mathcal{D}_{n} S_{n} \right) + \mathcal{D}_{n+1} \Gamma_{n} . \\ & \Rightarrow \Gamma_{n} = \frac{1}{\mathcal{D}_{n+1}} \left(\mathcal{D}_{n} X_{n} - \mathcal{A}_{n} \mathcal{D}_{n} S_{n} \right) = \left(1 + \gamma \right) X_{n} - \mathcal{A}_{n} S_{n} (H \sigma) \\ & = (1 + \gamma) (X_{n} - \mathcal{A}_{n} S_{n}) \otimes E \mathcal{D} . \end{split}$$